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COMPUTER SCIENCE SSC-l
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itst
it should be completed in the first 20 minutes and handed over to the Centre Superintende

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

(0 In 1786 AD proposed a calculating machine cailed Difference Engine.
A John Napier B. Leibnitz
C. Charles Babbage D. J.H. Muller
(i) is an object-oriented programming tanguage developed in 1891 AD.
A. C/C++ B. ADA
cC Java D. Visual Basic
(iif) The number of tracks in one cylinder of hard disk with two platters is
A 4 B. 8
C. 16 , D. 32
(iv) Press 'CTRL+5 for in the selected paragraph.
A Single Line Space . B 1.5 Line Space
C. Double Line Space D. 2.5 Line Space
(v) Which of the following is a DOS Internal command?
A SYS B. REM - C. FC D. XCOPY
{vi} An 8-bit address bus can address a memory of
A 1 Byte " B. 8 Bytes
C. 256 Bytes D. 256 Bits
{vil) By default, word automatically saves any document after every
A 5 minutes B. 10 minutes C. 15 minutes D. 30 minutes
(viil) Which of the following is NOT present on Edit Menu?
Y Font B. Go To C. Find D. Ctri+Z
(%) What is the number of Mouse actions with two button mouse?
' A 3 B. 4 C. 5 D. 6
{x) Which of the following is NOT a pointing device?
A Mouse B. Joystick C. Trackball D. None of these
{x1) Monitor shows resolution from 800 x 600 pixels to 1280 x 1024 pixels.
' A S-VGA : B. VGA _
C. EGA D. None of these _
{xii) The storage capacity of a single _is upto 680 M bytes equivalent to 500 floppies.
A. Hard Disk B. DVD
C. CD-ROM D. None of these
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COMPUTER SCIENCE SSC-l

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B' and any two questions from Section ‘C' on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 27)

Q.2  Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)
(i Draw the Block diagram of a Computer system with the sub-units of CPU.
(i) What is a Register? Name any three of its types.

(i) What is the difference between RAM and ROM?

(iv) What are the advantages of using a Word Processing program over a Typewriter?
(v) How is System software different from Application software?
(vi) What is the significance of byte?

(vii) Write three advantages and three disadvantages of using Internet.

(viil) What is a Scanner? How does it work?

(ix) What is the difference between Main Memory and Secondary Memory?

(x) Write down the procedure to change a directory?

(x1} What is the use of Task bar, Scroll bar and Title bar in Windows?

(xii) What is the difference between an Analog and a Digitai computer?

(xii)  What were the three important concepts emphasized by Jacquard's invention?

SECTION - C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)
Q.3 a What is Service software? How is Windows better than DOS? Explain. (4)
b. What is the difference between Super-computer and Micro-computer? (4)
Q.4 a What is a Computer Bus? Explain Data Bus and Control Bus. (4)
b. What is a Floppy disk? How does it store data? 4)
Q.5 a Why is a Non-impact printer better than an impact printer? Also explain Laser-Jet Printer. (4)
b. What is a Parameter? _ (2)
c. Explain COBOL. (2)
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o L Ao (Application Software) fsz iy 2 J(System Software). AT (v)
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(16 /f ) (oo
(2x8=16) (AL U g S 3 2 3

(04) AT e F o (DOS)U (Windows) i ii'e U2 s bl (Service) o Ay
(04) '-'eg-\:’/;,;‘/giul(Micro-Computer)jg.f;):/"L/,-' (Super-Computer) )y;;{( -
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